
:zeaeyg zeieliwy

:mipeniq
.zihqipeivi`ehpi`d dwibela mb zetwz (I)-a zepneqnd zeieliwyd -

.A ≡ B onqp ,`CPL A ↔ B mewna -

¬¬A ≡ A :dletk dlily (`) .1
:obxen-dc (a)

¬(A ∧B) ≡ ¬A ∨ ¬B .i
(I) ¬(A ∨B) ≡ ¬A ∧ ¬B .ii

¬(A → B) ≡ A ∧ ¬B .iii

A → B ≡ ¬A ∨B (`) .2
A ∨B ≡ ¬A → B (a)

A ∧B ≡ ¬(A → ¬B) (b)

:zeihphetnci` (`) .3
(I) A ∨A ≡ A .i
(I) A ∧A ≡ A .ii

:zeiaih`iveq` (a)
(I) A ∨ (B ∨ C) ≡ (A ∨B) ∨ C .i
(I) A ∨ (B ∧ C) ≡ (A ∧B) ∧ C .ii

:zeiaihhenew (b)
(I) A ∨B ≡ B ∨A .i
(I) A ∧B ≡ B ∧A .ii

:zeiaiheaixhqic (`) .4
(I) A ∧ (B ∨ C) ≡ (A ∧B) ∨ (A ∧ C) .i
(I) A ∨ (B ∧ C) ≡ (A ∨B) ∧ (A ∨ C) .ii

:(absorption) drila (a)
(I) A ∨ (A ∧B) ≡ A .i
(I) A ∧ (A ∨B) ≡ A .ii

(I) A → (B → C) ≡ A ∧B → C (`) .5
(I) A → (B ∧ C) ≡ (A → B) ∧ (A → C) (a)
(I) (A ∨B) → C ≡ (A → C) ∧ (B → C) (b)

(¬A → ¬B) ≡ B → A (c)

(I) A ↔ B ≡ (A → B) ∧ (B → A) .6


